
 
*Aplique cualquiera de los métodos generales para resolver ecuaciones 
 ¡Gauss se lo agradecerá! 
 
1.- a 15. aa yx =     2.- a 82332 . aa yx =−−    
    x-y = 3             3x+2y=17 
___________/                               _____________/ 
 
3.- 1023 . aaa

yx =    4.- 928297 .. aaaa yx −− =  

     1033 . bbb xy =          514753 .. bbbb yx −− =  
    ____________/                         _________________/ 
 
5.- 12 72: aaa

yx =   6.- 333 . aaa yx =  

      1: 4 =yx aa          56 . bbb yx =  
      ____________/                         ______________/ 
 
7.- 4 9321 3 )(. aaa yx =++   8.- 84 133 12 . aaa yx =−−  

      4 3251 7 : aaaa yx =−+         103 124 53 . bbb yx =++  
      _______________/                  ________________/ 
 
9.- 1: 5 33 5 =−− yx mm   10.- x+y = 7a+3b 

      168 154 13 . mmm yx =−−          x-y = 7a-3b 
      ________________/                 _____________/ 
 
11.- ax+y = p   12.- 4x-3y = 7a 
       bx-y= q            3x-4y = 7b 
      ___________/                            __________/ 
 
13.- 7x-5y = 2(a+12b)  14.- (a+c)x-by = bc 
       5x-7y = 2(12b-a)         x  + y = a+b 
      _______________/                   _______________/ 
 
15.- x+y = m+n   16.- ax+by = a 22 b+  
       nx+my = 2mn                   x : y = a : b 
      ______________/                      ______________/ 
 
17.- bx+ay = 2a 22 2abb +   18.- ax+by = 2 
       x : y = a : b          ab(x+y) = 2b 
      __________________/              _____________/ 
 



19.- ab(ax+by) = a 22 b+   20.- a(x+y)-b(x-y) = 2a  
       ab( x-y) = a-b          a(x-y) –b(x+y) = 2b 
21.- (a+b)x-(a-b)y = 4ab   22.- ax+by = 2a 

       (a-b)x+(a+b)y=2a 22 2b−           x+y=
ab

ba 22 +  

       ___________________/                      _____________/ 
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    ___________/                                         __________________/ 
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      _____________________/                  _________________________/ 
 

27.- b
yx

a =+ 1     28.- 2a
y

ba

x
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      ____________/                                     _____________/ 


